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Identify the shapes with an area of less than 60cm2
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Area of a triangle ©
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Discover

Area of rectangle =
2 x area of triangle

Area of triangle = area
of rectangle + 2

The area of the triangle on Lexi's sign is 42 cm?.

@) Area of rectangle = 14 x 6 = 84 cm?

Area of triangle = 84 + 2
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( This method is quicke )

1found the areas of the red and
yellow triangles and added them,
but I think there is o quicker way.

b) The area of Mo's sign is half the area of
the rectangle.

Area of rectangle = 40 x 30 = 1,200 cm?

Area of triangle = 1,200 600 cm?

The area of Mo's sign is 600 cm?.

ngle we can say that:
Area of triangle = base x height = 2.
The height is always perpendicular

to the base.

1 o Whotis the area of the triangle on Lexis sign?
b) What is the area of Mo's sign?
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Think together

o Calculate the area of each triangle.
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4. Match each friangle fo the comect area.
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5. Circle the shapes with an area less than 60cm?.
A B c
[3cm, 9em a:
12cm
10em scm
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6. Arthur has drawn a composite shape below using 3 friangles, 2 of which are.
identical.
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He says, gem

Is he correct? Explain your answer.
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